| dE/dx estimator 1 | | dE/dx estimator 2 |

- - - Entries 3197 = - - - - - - Entries 3197
..... Loii | Mean 3.158 Q.4 eemiesggrestesesiesio] ean 2.921
. . . Std Dev 0.6168 o : : : : : Std Dev 0.6247

0.35

ceedreeioeeec foede e [Enies . 3107 0.35F it T TEnies 31907
: : : : i | Mean 3.158 - : : : i | Mean 2.921
Std Dev 0.6168 0.3t b doees beeeeoieeooooioo Std Dev 0.6247

0.3

0.25

Entries 3204 Entries 3204

Mean 3.158 0.25 i e P foerin] Mean 2.923

0.2F i d b Std Dev 0.6223 F P 1 i [ stdDev 0.6335
A T O e S R R RSN T SO SO NN SO A
r H H : : : : Entries 1601 02: : : :. : : : Entries 1601
0.5 i i | i e sies E o ] e 2ew
o : : : : : | std Dev 0.6169 0.15F - tereeieferi i teeeeeeiooo| Std Dev 0.6408
Y NS RS O 1 SO U NS WO SO O E ] n
C O AR I S R S S
0.05( T e A e o 0.05F it e R AL S
o Gl-l : : : : : LL I o Gl-l ] : I : : :
= - : : : : = L : : : : : :
S r S | S 5 :
e R e M H RS T U A S ST 0 A T x|
L : H H +| |7 - HEES : : ]
i E JHE dLE T : : -w:"r ]
1}- _‘ri,_ l*{; A-Hl'-i 4 " SITREIE ]_i- : :)-l‘.':..,.;.}-i,:!\ : > E—u—
0O 1 2 3 4 5

6 7 8 9 10 1 2 345 6 7 8 910

dE/dx, harm2 dE/dx, trunc40
—a— DQM_original_originalvector_1000evt
—e— DQM_original_1000evt

—— DQM_fitted4_1000evt
— DQM fit nocpe 1000evt

O 1 CTIuTeS OIIT
b o e lei i eilaiieecaebacaacaeabacanaaaata

o

CTTaTTS 3197
Mean 0.8186
Std Dev 1.009

Mean 11.96
Std Dev 4,777

! [Entries 3197
0.08f- 3 i I oo e e | Mean 11.96

Std Dev 4.777

Entries 3197
Mean 0.8186
Std Dev 1.009

: : : : : | Entries 3204
------- LS CETELLLE! CTCTLEL ERCREREELE WV [XYy 0.818
: : : : . [ Std Dev 1.01

- : : : ¢ | Entries 3204
0.06f I osesebe e Mean 11.94 0.3
- : : : . |_Std Dev 4.792
: : : : : Entriés . 160.1 : : : : : Entri.eg : 1601
AR | L. L. L. i.| Mean 11.6 A R . b, T .| Mean 0.8763
0.04; : : : : i | Std Dev 4.764 0.2 Std Dev 1.031

T

. s S N i

Bl i I i

N e S O S s S S

.

Ratio

15

A S S B AL R ER B ok B ) )

0 10 20 30 40 50 60 70 80 0 55636 40 50 6070 80
dE/dx number of measurements dE/dx number of measurements with saturation



	Contents
	Page 1


